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(가)형 해설

tan    cos  



∴ sec   

 ′


  ln 
 ′ 

lim
 → 


sin  
×sin 

sin 
 ln 

log     log 

⇔ log     


log 

  








sec tan 


 











 

A B C

A B C




 

sin   

  sin 

⇔ 


sin  


cos  sin 

⇔ sin    cos 

∴ tan   

lim
→∞





  




  

 




 

  

   × log 

   × log 















∴ 


 



  

  

 
   




   


⋯ ㄱ

   



   



   

 



  


ㄱ  




    



      

     

     

     

     



   

   

⇒      ⋯ ㄱ

lim
→ 
  

 
 lim

→ 
  

 

⇒ 


 


⋯ ㄴ

ㄱ ㄴ

         









× 

 




  ×






 














 




  



B log  C   log
  

log   log    ⋯ ㄱ

log
   log     ⋯ ㄴ

ㄱ ㄴ      

O OA

 ABP 

OP  

∠OAP  


∠ODB  ∠BOD  



OBD

OAC ∠COD  



OCD

OCP ODP




×  × 


  × 


×  ×     

∴   

⇒ C × C × C  

⇒ C × C × C  

⇒ C × C  

    ×  ×   

 ′  









   







  


   














   




























 















 ′




 













  
 

 



    


 


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ㄱ


 



 log 
 



 log 
 



 log

  
 



  log

    

ㄴ

  log   

   log   

 

     

  

  
    

  

ㄷ

     

  

  
  

  

  

  
  

log  log
 

  

  
    

  
 

ㄱ ㄴ ㄷ

      

⇒ 

      ≠ 

   ≤  

⇒ 

    ≠   ≠ 

   ≤  ≤   

⇒ H ×   

   ≤  ≤  ≤ 

  

⇒ H ×   









  cos

 sin


 





  cos   

  sin   
 A







  cos

 sin
  A ⋯ ㄱ







  cos   

  sin   
 A







  cos   

  sin   


 





  cos

  sin
 A ⋯ ㄴ

∵ sin   sin cos   cos

ㄱ  ㄴ 

A  A  A  





  cos

 sin


A  

 





  cos

sin 


  cos

A 





  cos

 sin
  

 
 




  




⇒ 가     

cos  sin   ⇔   tan  sec



 
 








  tan

sec 
  

 
 







  



⇒ 나   



      






  

 









 



 ′ 


 ′

 ′ ′

 ′

 ′ 




       

ln    

 ln    ln 

⇒     ⋯ ㄱ

ㄱ

 ′    

 ′  ′

  
 



       ⇔    or 

     

 ln       

 ln   ′ln  ′


 



 

   ′ ′ 

  ⇔  

 ′′ 

 ∵ lim
→∞

 ∞

C  C  

 




 ′    


  

 ′ 

 ″       





 ″       ≥    ∵

 ≥  



 ×   

 ′   cos 

   cos 

  sin   cos   



    

    ∴   
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∠CBD  


 


 ∠ABC  ∠CBD  


 




∠ABE  


 


 ∠EBC  


 



EB sin




EBC

  

 EB×BC× sin


 

  sin


 cos



lim
 →  



 lim

 →  


sin


 cos



 

∴   

       

     

   

   ≥ 

  

    





     

 

            

   ≤  ≤   

⇔    ≤    ≤     

⇔  ≤  ≤ 

        ≤  ≤   

          ≤  ≤ 

   

 

  

        

⇔         ≤  ≤ 

 

            

     

     

     

     

     



  

        

⇔         ≤  ≤ 

 

            

     

     

     

     

     



  

        

⇔         ≤  ≤ 

 

            

     

     

     

     



        ≤  ≤   

      

 ln   





 ln    

⇒    ln 



 ″≥ 

  


 





  ∞   ∞

   


 
















 ln 

ln   ln 

 ∞   ≤ 

    

    ≤   ∞


 





  ln
 



 






 ln

    




  

  ln 




 ln

     





  
     






 ln

   

 






ln 




 ln  











 


ln  




 



  

 ln
 



∴     ×


 
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(나)형 해설

∩  

  






×


log  

lim
→∞

  

 
 lim

→∞












 



   

      

  

     

  

  

   

∴   

  

   

∴   

  

   

∴   

   

∪  ∪ 

∪  

 ∩  ∪  




 




 

×


 




 

 

∴ 


 


 



   

   



 




 




 

  

  




   

    

    

    

    

    

log  log

log  log

  

log  log

log  log

log



 log









 

  ≥  ≥ 

         



   

 


    


  

∞

 

   
 

  

∞

 






 


 








 ⋯

 

  lim
→∞





  

  



 



ㄱ


  



   
  



  

  
  



  
  



 

ㄴ


  



   

  


  





ㄷ

ㄴ


  



   


  

 

   




  



  
  

  



  

     

 ≤ 

 ≥ 

∴   

   

  
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  

    



  

    

    

∴   



lim
→∞

    lim
→∞
  



 lim
→∞









 





lim
→∞




 

lim
→∞









 





 


 

  

lim
→∞




 

lim
→∞

  

 

      

  

∴

      

  

  

     

A


  B


 
AB


 

A


 

  B


 

 
AB


 



AB


 


AB


 


⋯

AnBn


 




  

∞

ABn


 

 

     ⋯  

 

    …  

 

    ⋯  



∴ 

  



∘   


  



   
  



 
  



  




 

   


 







 




      

   ∵    ∴   


  

∞

 

lim
→∞

  

lim
→∞




 

  

lim
→∞



 

lim
→∞




   



    

 

  ×    


  



  
  



×  

   
 

∩ ≠∅

∩ ≠∅ 

    

∴    

∩ ≠∅ 

    

∴     

∴   

  











 

 



      ⋯


  



 
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


   

∞

 
 



  
 


××

  

  
  

∞

  
  

∞

  ⋯  
    

∞



 ×



 ⋯ ×

 



  





∴  
 



×


 



 


 
lim
→∞







   

    

lim
→

 

  ∞

   

    

 →

→

   

     



   

     



   

   →


  

 

  

        

    

      

∴ 


